int createChan(int nsgSize) {
get an empty channel descriptor and initialize it
set return &lue to the indeor address of the descriptor
di spat cher ();

}

proc sendChan(int chan; byte msg[*]) {

find descriptor of channethan;

i f (blocked listempty { # save nmessage
acquire biffer and cog nsg into it;
insert luffer at end of message list

}

else { # give nmessage to a receiver
remove process from bloakd list
copy nsg into the process’aldress space
insert the process at end of ready; list

}
di spat cher ();

}

proc receiveChan(int chan; result byte msg[*]) {

find descriptor of channethan;

i f (message listempty{ # bl ock receiver
insert execut i ng at end of blockd list
store address ofrsg in descriptor ofexecut i ng;
executing = O;

}

else { # give receiver a stored nessage
remove tuffer from message list
copy contents of bffer into nsg;

}
di spat cher ();

}

bool enptyChan(int chan) {
bool r = false;
find descriptor of channethan;
i f (message list empty
r = true;
sasre r as the returnalue
di spat cher ();

Figure 10.1 Asynchronous message passing in a single-processor kernel.
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